Multiple Choice
1 points 

	Question The assignment operator is: 

	Answer
	  two equal signs: == 
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  one equal sign: = 

  the 'equals' keyword 




Multiple Choice
1 points 

	Question The equals operator is: 

	Answer
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  two equal signs: == 

  one equal sign: = 

  the 'equals' keyword 




Multiple Choice
1 points 

	Question In "while( statement ) {}", statement is: 

	Answer
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  a boolean value such as: x == 4 

  an assignment value such as: x = 4 

  an incremented value such as: x = x + 1 




Multiple Choice
1 points 

	Question Given the following output: 
C:>java Test 
DooBeeDooBee 

and given the following lines of code: 
int x = 1; 
while (x < i){ 
System.out.print("DooBee"); 
x = x + 1; } 

The value of i must be: 

	Answer
	  1 

  2 
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  3 

  4 




Multiple Choice
1 points 

	Question Given the following output: 
C:>java Test 
DooBeeDooBeeDooBee 

and given the following lines of code: 
for (x = 0; x <= i; x++){ 
System.out.println("DooBee"); } 

The value of i must be: 

	Answer
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  2 

  3 

  4 

  5 




Multiple Choice
1 points 

	Question Will the following lines of generate errors at compile time: 
int x;
if ( x = 1){
System.out.println("x is equal to 1"); } 

	Answer
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  Yes 

  No 




Multiple Choice
1 points 

	Question Will the following lines of generate errors at compile time:
boolean b = true;
if (b){
System.out.println("b is true"); } 

	Answer
	  Yes 
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  No 




Multiple Choice
1 points 

	Question Given the following lines of code:
int i = 3;
int x = 1; 
while (x < i){
System.out.print("DooBee"); }
The output will be: 

	Answer
	  DooBeeDooBeeDooBee 

  DooBeeDooBee 

[image: image8.png]



  A continuous stream of successive "DooBee" 




